Use the following information to answer questions 3-4: 

Convex Mechanical Supplies produces a product with the following cost as of July 1, 2004: 

Material…………….$6 
Labor……………….   4 
Overhead…………. 2 
                      ____ 
                      $12 


Beginning inventory at these costs on July 1 was 5,000 units.  From July 1 to December 1, Convex produced 15,000 units.  These units had a material cost of $10 per unit.  The cost for labor and overhead were the same.   Convex uses FIFO inventory accounting. 

Assuming Convex sold 17,000 units during the last six months of the year at $20 each.   

3. What would gross profit be? 
  A. $60,000 
  B. $87,000 
  C. $67,000 
  D. $88,000 
Product cost from July 1 to December 1

Material…………  $10
Labor……………….   4 
Overhead…………. 2 
                      ____ 
                      $16 


Beginning Inventory + Units Produced – Units Sold = Ending Inventory

5,000 + 15,000 – 17,000 = 3,000 units

Sales ($20 x 17,000)





340,000





Cost of Goods Sold Expense:




Beginning Inventory ($12 x 5,000 units)                60,000




Cost of Production:




Direct Materials ($10 x 15,000 units)

150,000






Direct Labor ($4 x 15,000 units)

  
  60,000




Overhead ($2 x 15,000 units) 
              
  30,000



Total Costs Available for Sale


300,000




Less: Ending Inventory of Finished Goods      
  48,000




($16 x 3,000 units)




Cost of Goods Sold Expense


252,000

Gross Profit






  88,000


4. What is the value of ending inventory? 
  A. $48,000 
  B. $60,000 
  C. $50,000 
  D. $58,000
